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Attempt any five questions, selecting one question from each Mﬁf‘ 5
Afl questions carry equal marvks. Schematic dvagrams niusl be °
shoun wherever necessary. Any data you feel missing suitably be
assumed and stated clearly.
['nits of quantities used/ calculated must be ﬂr clerrly,

Use of followng supporting material is penmtteﬁ dunbéezammalrnn
(Mentioned in form No. 208} -
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I fzy  Consider on onpen r-:uQ I P-njunctinn, SKelch curves ax g
function eof diath ACEDSS the jundciion (51 SIEHIN S ih:il‘—"?

electrie field ar@m[&n tial.
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(b) Expla @Qr break down. Also explain working « f a zener

1 (& How does the dynamic resistance '7° of a diode vary with
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UNIT - 11

*_“ ﬂg: | _{a} What are electromcs filters ? Explain various types of filters
w1th thewr applications.
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Can the

o N
Prove that the regulati
on of both the h
rectifler is given by e MQ&EW
f
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% Regulation = -kixlﬂﬁ?fi: | ,&_@
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Bl A symmetncal SK kHz square @whuse output varies
s be teen T 10 and - 10Vis impr% upon the chpping circuit
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rxplan single phase ful wave bndge yectifiers

‘ranstormer and the load be interchanged in it 7
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A0 Find the tron=istar cwrrventan the eircuit of fie helow a silicon

) ey
perstor with O0uand |- 20p A = 2 [0 d s unde

OR

: ‘47 Explain concept of minority carrier éohcentration n the base
* | ! .

for cutoff. active and saturation_conditions 1 a BJT.
o

®) A sihcon transistor with V... =08V, 9=h., =100,

i

- s w=ed i the circurt shown. Find the mmamum

value of /0 o tor which the transistor remain in saturation.

UNIT - IV

4 (a1 Explain construction, working and V-l characteristics of a
JFET.
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Iy Explam DC analysis of FET, also Explﬂlﬂ FET as a

voltnge varable resistor.

sl ®
o OR
| Ay Baplain MOSEFET with 1ts type, construction and V-1
clhuvericteristtes ?
8

dy o The amphfier shown in fig utilized an n-channel FET for
which Vi, = 2.0V and 1;qq= 1.65mA. It 1s desired to hias
the cireunt at I, =0.8mA, using Vi, =24V. Assume

vy, findd

() Vi
by 9,
() R..
h R,

such that the voltage gain is at least 20 dB; with R, bypassed
with a very large capacitance C_.

‘ UNIT - V
s
D (1) Sketchothe circwit for Darhngton pair and find its overall
current gain with help of i1ts ac equivalent circuit,
8
(b)  Explain frequency response of CE transistor as amplifier at
high frequency.
8
OR
51 Write short notes on any two 16
() Bootstrapped Darligton circuit
(b) Miller's theorem ‘and its dual

©) Cascaded BJT amphfiers.
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